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(1) AR 2= (o) VTHOFEEICEY o = 3.00 N/mi
(2)BLATEE (m)
m = 1-SL + 2:-0 = 30.0 N/mf’
£oT m = 30.0 N/mf
(3)kEA MEW/C) m = -18.7 + 27.8 X C/W
W/C = 27.8 + (30.0 + 18.7) X 100 = 57.0 % = [60% (_-FE{H) ]
SW/C =570 %
(4) HALKE (W) YTHOEREICEY W = 156 ke/m
(5)HfrE AL F&E(C) C =W = (W/C) X 100 = 156 = 57.0 X 100 = 274 keg/m
Cv=C + BE = 274 + 3.04 = 90 £ /o
(6) 225 &(A) A = 4.5 % X 1000 = 45 £ /m
(7T)BEAHEME(G) S THOERKIZLY HIFMH = 0.631 m/m EREE = 60.0 %
Gv = 0.631 X 1000 X 60.0 = 100 = 379 £ /m
Glv = Gv X 30.0 % = 114 #¢/m Gl= GlvXELHEE = 114 X 2.68 = 306 ke/mi
G2v = Gv X 20.0 % = 76 2 /m G2= GYXFEHEE = 76 X 2.67 = 203 kg/m
G3v = Gv X 50.0 % = 189 2/m G3= G3vXFEHEE = 189 X 2.70 = 510 keg/nt
(8) HfrMiEH & (S) Sv = 1000 — W+ Cv+Gv+A) = 1000 — 670 = 330 £ /m
Slv = Sv X 60.0 % = 198 ¢ /m S1= SIvXEHHBE = 198 X 2.66 = 527 ke/m
S2v = Sv X 40.0 % = 132 #¢/m S2= S2vXFEWEE = 132 X 2.63 = 347 kg/m
(9)MFH=(s/a) s/a = Sv =+ (Gv+Sv) X 100 = 46.5 %
(10) B Al E (Ad) Ad = C X IR X BE = 274 X 0.9000 % X 1.00 = 2.47 ke/m
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